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QUESTION 1

Which method should be used to construct an LBAC security component that represents a person\\'s level of trust? 

A. SET 

B. TREE 

C. ARRAY 

D. ORDER 

Correct Answer: C 

 

QUESTION 2

Which database configuration parameters can be used to limit the amount of memory allocated for the LOAD utility? 

A. UTIL_HEAP_SZ and STAT_HEAP_SZ 

B. LOAD_HEAP_SZ and DATABASE_MEMORY 

C. LOAD_HEAP_SZ and STAT_HEAP_SZ 

D. UTIL_HEAP_SZ and DATABASE_MEMORY 

Correct Answer: D 

 

QUESTION 3

Your UNIX system administrator has indicated that there appears to be a lot of I/O wait time associated 

with your database, which is stored in a 7+p RAID array. An investigation reveals the following information: 

DB2_PARALLEL_IO=* 

Tablespace with ID 7 has a single container and is dedicated to the largest table. It has a page size of 16K, 

an extent size of 32, and a prefetch size of 64. 

Which setting would optimize I/O for the largest table? 

A. DB2_PARALLEL_IO=7:64 

B. DB2_PARALLEL_IO=7:7 

C. DB2_PARALLEL_IO=7:16 

D. DB2_PARALLEL_IO=7:32 

Correct Answer: B 
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QUESTION 4

Which conditions must be met to implement HADR? 

A. Operating systems on primary and standby servers must be the same; DB2 versions need not be the 

same; and the databases must have the same bit-size (32 or 64 bit). 

B. Operating systems on primary and standby servers need not be the same; DB2 versions must be the same; and the
databases need not have the same bit-size (32 or 64 bit). 

C. Operating systems on primary and standby servers must be the same; DB2 versions must be the same; and the
databases need not have the same bit-size (32 or 64 bit). 

D. Operating systems on primary and standby servers must be the same; DB2 versions must be the same; and the
databases must have the same bit-size (32 or 64 bit). 

Correct Answer: D 

 

QUESTION 5

A DBA would like to examine repartitioning options for a partitioned database named PRODDB. Which tool can be used
to provide recommendations on re-partitioning? 

A. Configuration Advisor 

B. Partition Assistant 

C. Design Advisor 

D. Workload Manager 

Correct Answer: C 
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